Roll No 220809051567

Registered Photo

Registration No R220809051567 F
Candidate Name SALMAN ALI ?
Module Name ELECTRICIAN-YEAR 2 W
Exam Date 23-Aug-2024 u
Exam Batch 09:00-11:00
1) TRADE THEORY

Question No. 1/ Question ID 251 Marks: 2.00

Which formula is used to calculate the percentage voltage regulation in an alternator?

3feeeR H Ufa=rd diees faf e &1 01 o34 o o ford g &1 SUdiT foar oirar g2
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Global iTi

% x 100 | (Correct Alternative) (Chosen Option)

RN %100

S TH 10D

Question No. 2 / Question ID 385 Marks: 2.00
Which type of load is protected by ‘G’ series MCB?
g YR &1 A’ G ' JUft MCB §RT TRI&d 82
(A) O General lighting systems
HTHT YD TR HIRIT
(B) O Ovens
3{Ia
(C) O Geysers
eR
(D) O Air conditioners (Correct Alternative) (Chosen Option)
TR SR (Correct Alternative) (Chosen Option)

Question No. 3 / Question ID 137 Marks: 2.00
What is the type of A.C motor stator winding as shown in the figure?

fo 7 21T SR A.C HieR TR diRfST &1 UHR R1 82




L el

(A) O Diamond coil winding (Chosen Option)
BRI $hed AIRfST (Chosen Option)

(B) O Involute coil winding
Sfed ped aiRfeT

(C) O Double layer basket winding
S IR IRDC ARG

(D) O Single Iayer basket winding (Correct Alternative)

RiTer 4R IRpe arsfET (Correct Alternative)

Question No. 4 / Question ID 295
What is the name of curve of the synchronous motor as shown in the figure?
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Marks: 2.00




(A) O No load characteristics curve
HIS A faivar as 76

(B) O V'curve (Chosen Option)
V' ddh (Chosen Option)

(C) O Inverse 'V' curve (Correct Alternative)
gcehH 'V' deb (Correct Alternative)

(D) O Load characteristics curve

drs faRivar a%

Question No. 5/ Question ID 517 Marks: 2.00
What is the name of the substation that all equipment of substation is installed within the station building?
I YRR BT ATH 7 ¢ fordr It Igar TH Had & fiaR RAfud fhw e g2
(A) © Outdoor substation

33TER I LI
(B) O Plinth mounted substation
iy A3 e TaRexH
(C) O Indoor substation (Correct Alternative)
ET-I'éﬁ'\' GERRIE] (Correct Alternative)
(D) O Pole mounted substation (Chosen Option)
UId AI3C8 WaRe R (Chosen Option)

Question No. 6 / Question ID 307 Marks: 2.00
What is the formula to calculate the resonance frequency in an oscillator circuit?

TH A Fidhe H TG SR Bt TTUHT H=A BT I3 FT 82
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Question No. 7 / Question ID 438 Marks: 2.00

What is the main use of A.C drive?

A.C 3184 &1 =T YT 1 §?




(A) O Group drive motors
g 913d HicH
(B) O Interlocking system in industries (Chosen Option)
EE JUTT! (Chosen Option)
(C) O Control stepless speed in motors (Correct Alternative)

Al | fesor 3fea 71fd (Correct Alternative)
(D) O High starting torque

Question No. 8 / Question ID 442 Marks: 2.00
What is IGBT in VF drive?
VF 3189 # IGBT 1 87
(A) O D.C bus switching device
D.C 9 faf<iv fearey
(B) O Voltage regulator switching device
SICURREIRS]
(C) O Field supply switching device
SIENNREIES
(D) O Inverter switching device (Correct Alternative) (Chosen Option)

':-'gﬁ'c."{ gt %?:I'IEW (Correct Alternative) (Chosen Option)

Question No. 9 / Question ID 269 Marks: 2.00
Which application requires only DC?
o U= & had SR B HTIRIHT 572
(A) O Stepping up of voltage . .
et Fgr Global iTi
(B) O Electroplating (Correct Alternative)
Fq'g[a AU (Correct Alternative)
(C) O Operating induction motor
SR TR YT
(D) O Operating repulsion motor (Chosen Option)
YUdTlclq (Chosen Option)

Question No. 10 / Question ID 444 Marks: 2.00
What is the advantage of AC drive compared to DC drive?
St g13d B! o H W S139 BT 1 ISl 82
(A) O Wide and smooth speed control
ATYS 3R AT T =0
(B) O Power circuit and control circuits are complex (Chosen Option)
UTaR Ffdhe 3R a0 gfdbe sifed & (Chosen Option)
(C) O Installation and running cost is less (Correct Alternative)
TITYAT 3R IA I TR HH % (Correct Alternative)
(D) O Requires more space

31 I BT STaTHdT B ©

Question No. 11 / Question ID 110 Marks: 2.00
Which speed control method is applied to obtain both below normal and above normal speed in DC motor?
SIRA Hiex & 9w ¥ BWR SR A a1 il &1 U dA & fore far wif fsror fafer ) @y farar S g2
(A) O Armature control method (Chosen Option)

=07 fafd (Chosen Option)




(B) O Tapped field speed control method
s sl fafd
(C) O Field control method
&= g fafy
(D) O Ward Leonard speed control method (Correct Alternative)

a18 foraiTs Tt deta fafdr (Correct Alternative)

Question No. 12 / Question ID 45 Marks: 2.00

What is the name of generator, if its field is connected in parallel with armature?
SFIRER T A 1 7, AfS SHHT &7 SR F THMR ST §oT 32
(A) O Separately excited generator

3T ¥ JTgd SFReR
(B) O Shunt generator (Correct Alternative)

/e S veR (Correct Alternative)
(C) O Long shunt compound generator (Chosen Option)

AT T HUTSS SReR (Chosen Option)

(D) O Series generator
U TR

Question No. 13 / Question ID 245 Marks: 2.00

What is the input current of a 2hp single phase motor, 240V at 70 percentage efficiency and 0.8 power
factor?

70 U= G&fdT 3R 0.8 TTaR Hhaex TR 2hp RITTE Wet Hex, 240V HT $TYC HC HT 52

(A) O 11 amp (Correct Alternative)
11 amp (Correct Alternative)

B 6.95A Ch Opti N
B0 & oohms Chosancrion Global 1T
(C) O 13.52 Amp

13.52 Amp

(D) O 17.68 Amp
17.68 Amp

Question No. 14 / Question ID 59 Marks: 2.00
Which loss is called as copper loss?
9 g1 &1 A g1 FeT I 82
(A) O Windage loss
Ua &ffd
(B) O Variable loss (Correct Alternative) (Chosen Option)
uftad-g GG (Correct Alternative) (Chosen Option)
(C) O Constant loss
[NRHSIESs CANIE
(D) O Friction loss

Yo BT

Question No. 15/ Question ID 490 Marks: 2.00
Which is the conventional power generation?
IRUNS faeTell TG B 91 57
(A) O Solar power generation
RIfokT JaTe
(B) O Wind power generation
Ua fekT Jere




(C) O Tidal power generation
RUCSRCCICT]
(D) O Thermal power generation (Correct Alternative) (Chosen Option)
JdIg (Correct Alternative) (Chosen Option)

Question No. 16 / Question ID 106 Marks: 2.00
Which method of speed control offers the speed below the rated speed of DC series motor?

T f=rr Bt w3t fafd DC 9Raar Hiex &t 3¢S i & FH 71 UM HRdt 82
(A) O Tapped field method
cte & fafy

(B) O Connecting additional winding in series with field
Wits & 1Y §@ar H ffARad arefST &l sie

(C) O Armature diverter method (Correct Alternative) (Chosen Option)
3R sTaads fafd (Correct Alternative) (Chosen Option)

(D) O Field diverter method
Wicg Sac fafy

Question No. 17 / Question ID 357 Marks: 2.00
Which amplifier produce a given gain with the minimum of distortion?
DI I TABRR gATH fIE01 & Qi foam a1 ary ITd HRal 82
(A) O Common base amplifier (Chosen Option)
I 3TYR THATBTR (Chosen Option)
(B) O R - C coupled amplifier
R - C gfHd TR
(C) O Small signal amplifier

samerdos  Global iTi

(D) O Voltage amplifier (Correct Alternative)

diecs THAIBTIR (Correct Alternative)

Question No. 18 / Question ID 10 Marks: 2.00
What is the formula for dynamically induced emf?
Tiaita U § 9Rd STHIW & fore 9 1 82
(A) O BLsin6 volts
BL sinB volts

(B) O BLV cosb volts
BLV cosB volts

(C) O BLV volts
BLV volts

(D) O BLV sinB volts (Correct Alternative) (Chosen Option)
BLV sin® volts (Correct Alternative) (Chosen Option)

Question No. 19 / Question ID 462 Marks: 2.00
What is the full form of PWM?
PWM &1 Jul &Y 1 g2




(A) O Phase Wide Modulation
Phase Wide Modulation

(B) O Pulse Wide Modulation
Pulse Wide Modulation

(C) O Phase Width Modulation (Chosen Option)
Phase Width Modulation (Chosen Option)

(D) O Pulse Width Modulation (Correct Alternative)
Pulse Width Modulation (Correct Alternative)

Question No. 20 / Question ID 277 Marks: 2.00
What will be the speed of a 4 poles alternator supplies the frequency of 50 Hz at the rated voltage?
T TS W 50 Bol B ST UG HRA a1 4 UIdd dTet 3fee=-ex o1 i a1 gRil?

(A) © 3000 rpm (Chosen Option)
3000 rpm (Chosen Option)
(B) O 1500 rpm (Correct Alternative)
1500 rpm (Correct Alternative)
(C) © 1000 rpm
1000 rpm
(D) O 4500 rpm
4500 rpm

Question No. 21 / Question ID 37 Marks: 2.00
What is the name of the compound generator, if the shunt field is connected in parallel with armature?
HUISS SFRCR BT 10 F1 g, Tfe T WicE MHR & 1Y TR H ST §371 872
(A) O Short shunt compound generator (Correct Alternative)

T Ue HUTSS THYeR (Correct Alternative) .
(B) O Separately ezcited generator (Chgs I@lbal ITI
3T ¥ ITed SFReER (Chosen OpTion)
(C) O Long shunt compound generator
AT YT HUNS TR

(D) O Shunt generator
EIGAS B R

Question No. 22 / Question ID 93 Marks: 2.00
Which speed control method is used in food mixture motors?
T fhrsion e § forg Ty foiaror fafd 1 SuahT fasan S 82
(A) O Field diverter control method
[BRELAGIE

(B) O Series field tapping method (Correct Alternative)

%IEFIT ?33[ oftir fafdr (Correct Alternative)
(C) O Armature diverter method (Chosen Option)

TR STgac fafy (Chosen Option)

(D) O Voltage control method
dices = fafy

Question No. 23 / Question ID 176 Marks: 2.00
What is the relation between the torque and the slip of an A.C induction motor?
A.C $SIRM HIex & <l 3R U & ot a1 Taie 82
(A) O Slip consant if torque decreases
3fg el gedr 8 ol iy fRRid

(B) O Slip increases if torque decreases

g Tleh gedl g al Ry ded §




(C) O Slipincreases if torque increases (Correct Alternative) (Chosen Option)
gfe g dedl % o fiaqu El'r.!'iﬁ % (Correct Alternative) (Chosen Option)

(D) O Slip decreases if torque increases

gfg <ids Sgal § <) a1d ¥edt §

Question No. 24 / Question ID 470 Marks: 2.00
Which transformer is used in servo voltage stabilizer?
4l dleesl WadgoR H fhd SRBRR &1 SUdT far ST g7
(A) O Step up transformer (Chosen Option)
WY 3T SRIHIFR (Chosen Option)
(B) O Constant voltage transformer
g dieesl TRImIER
(C) O Toroidal autotransformer (Correct Alternative)
eRIfSTd ar‘r'agmﬁﬁw (Correct Alternative)
(D) O Step down transformer
WY B3 TRAHIR

Question No. 25/ Question ID 193 Marks: 2.00
What is the purpose of using rotor resistance starter to start 3 phase slip ring induction motor?
3 Fall f&y AT TR HieR & B & AL e UfeRkiY W &1 ITANT 63 &1 I8 1 872
(A) O Reduce the rotor voltage
X dlecs] HH B
(B) O Increase the rotor current
IR BT TGN
(C) O Reduce the power loss
rddmaes  Global jTi
(D) O Increase the startlng torque (Correct Alternatlve) Chosen Option)

TSI el QT8 (Correct Alternative) (Chosen Option)

Question No. 26 / Question ID 360 Marks: 2.00
Which is the demerit of IGBT?
IGBT &1 &I I I 572
(A) O Static charge problem (Correct Alternative) (Chosen Option)
HHAT (Correct Alternative) (Chosen Option)
(B) O Flat temperature co-efficient
dHd el dIUHIH {LUIiOh
(C) O On-state losses are reduce
T B 97eT HH 71 T §
(D) O High switching frequency
o1 .

Question No. 27 / Question ID 139 Marks: 2.00
Which operation the control circuit is used?

HUCIA Flhe BT ITANT o IR H o oirar g2
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(A) O Sequential control

(B) O Remote control
ferle et
(C) O Inching (Correct Alternative) (Chosen Option)
[T (Correct Alternative) (Chosen Option)
(D) O Forward and reverse

31T 3R e




Question No. 28 / Question ID 211 Marks: 2.00
What is the name of the bearing as shown in the figure?

fo & famy SuR feafn &1 9 &1 82

(A) O Bush bearing
1 faaf
(B) O Roller bearing (Chosen Option)
R feafe (Chosen Option)
(C) O Ball bearing (Correct Alternative)
§ia foaf¥ (Correct Alternative)
(D) O Thrust bearing
U forafa

Question No. 29 / Question ID 194 Marks: 2.00
What is the name of 3 phase motor winding, if the coil pitch is less than pole pitch?

3 Sl AR ASET &1 19 R0 5, Al Heit g Uit g 3§ 9 82
(A) O Lpng %hordeq vyinding

el Bles arsfet —
(B) O Full pitch winding GIObaI |T|
(C) O Whole coil winding (Chosen Option)

R $&d aiRfST (Chosen Option)
(D) O Short chorded winding (Correct Alternative)

TIc PISS ATSIST (Correct Alternative)

Question No. 30 / Question ID 105 Marks: 2.00
Which method of speed control offers the speed below the rated speed of DC shunt motor?
T fg=or 3t S 3t fafd be 3ie AR 3t Raiia 1fa & &0 71 vem Rt 82
(A) O Connecting additional resistance in series with field
UfaRIY &1 ieg & 1Y Yl 8 Sig-T

(B) O Field control method

& o fafdy
(C) O Armature control method (Correct Alternative)

3R fArd=ror faf¥r (Correct Alternative)

(D) O Connecting additional winding in series with field (Chosen Option)
Hics & I gaar § HfaRad aEfE &1 ST (Chosen Option)

Question No. 31 / Question ID 391 Marks: 2.00
What is the purpose of using thermal relay in addition to fuse in A.C motor circuit?
A.C TieR Tfdre § vl & sifafved yrd Rel &1 STaNT & &1 I a1 87
(A) O KV
KV




(B) O KVAR (Chosen Option)
KVAR (Chosen Option)

(C) O MVA (Correct Alternative)
MVA (Correct Alternative)
(D) O KW
KW

Question No. 32 / Question ID 231 Marks: 2.00
Which single phase motor has squirrel cage rotor?
5 Tohe TRl Wex H f&pRa ot AR BT 82
(A) O Split phase motor (Correct Alternative)
Hiex (Correct Alternative)

(B) O Repulsion motor (Chosen Option)

e (Chosen Option)
(C) O Compensated repulsion motor

3T Ui yr Hier

(D) O Universal motor

Question No. 33 / Question ID 73 Marks: 2.00
What is the name of winding, if coil pitch is less than pole pitch?

e wrsd U, O o @ &4 ], df argfe &1 A o g7
(A) O Full pitch winding

U e
(B) O Long chorded winding

SCl arefeT " —
(ON®) Ove?ifciwmdmg GIObaI ITI
iR o aEfém

(D) O Short chorded winding (Correct Alternative) (Chosen Option)

e PIos 313'%1T (Correct Alternative) (Chosen Option)

Question No. 34 / Question ID 368 Marks: 2.00
What is the name of the wiring accessory used in control panel wiring as shown in the figure?

for o feamy U o O9a arafeT & vad araieT SeTad SUHRUT & 19 1 572

(A) O G channel

SICER]

(B) O Race ways

(C) O DIN rails (Correct Alternative) (Chosen Option)
orrect Alternative osen Option
SH¥a(C t Alternative) (Ch Option)




(D) O Grommets

\

Question No. 35/ Question ID 356

What is the name of the amplifier as shown in the circuit?

fthe o gRIT MU TR &1 A1 31 82

Marks: 2.00

B B
g g
; ;
(A) O Power amplifier (Correct Alternative)
LIEES Q’FCI@'W (Correct Alternative)
(B) O Current amplifier
P
(C) © Small signal amplifier
Bler Rud
(D) O Voltage amplifier (Chosen Option)
glecs THAIBIAR (Chosen Option)
Question No. 36 / Question ID 170 G I QQQ! !]_’1 Marks: 2.00
Which type of handle design of rotary switc |sL strat s shown in the figure?
for 7 fETy 3FER et Raa &1 fory UaR o1 §d fowe axifar mar g2
5 5
3 3
(A) O Key operation
EEIREINE]
(B) O Coin slot (Correct Alternative) (Chosen Option)
[ TIIC (Correct Alternative) (Chosen Option)
(C) O Lever
(D) O Knob
oXdl
Question No. 37 / Question ID 355 Marks: 2.00

What is the name of the symbol as shown in the figure?

fo 7 fG@Y 3R Udlies &1 =19 F1 672




KO—“—GA

f

(A) O Photo conductive diode
BIc! YaIgDhId STATS
(B) O Light emitting diode
UHTR SRToID SIS
(C) O Diode
SIS
(D) O Zener diode (Correct Alternative) (Chosen Option)
WR SHS (Correct Alternative) (Chosen Option)

Question No. 38 / Question ID 367

What is the name of the device marked as ‘X’ as shown in the figure?

fo & fg@m ouR ‘X ¥ fafed fearsa &1 A w1 82

T

&3

EL410212

i}

S

EL410212

(A) O Main contact (Chosen Option)
T ¥Ud (Chosen Option)

(B) O Start button
WIC §eA

(C) O Auxiliary contact (Correct Alternative)
TGP HUS (Correct Alternative)

Marks: 2.00




[ (D) O Stop button
Y dcH

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 526 Marks: 2.00

e
AR

= I

&\)\\\\\\\\\H

WBECHZEL 1011

AR

— |
\ e
Globgil iTi

2

A) O Tensile stress
GEICRIRER]

)
B) O Torsional stress
crd gfded
C) O Shear stress (Correct Alternative) (Chosen Option)
P ufdad (Correct Alternative) (Chosen Option)
D) O Compressive stress

(
(
(
(

Question No. 2 / Question ID 523 Marks: 2.00
What is the expanded form of (a+b)2?
(a+b)? BT ARG =T T 82
(A) O a2+ 2ab + b? (Correct Alternative) (Chosen Option)
a2 + 2ab + b? (Correct Alternative) (Chosen Option)
(B) O a2-2ab + b2
a’ - 2ab + b?
(C) O -a?-2ab +b?
-a® - 2ab + b?
(D) O a?+2ab-b?
a2 + 2ab - b?




Question No. 3 / Question ID 520 Marks: 2.00
What is the value of 14x+3y+25x+2y?
14x +3y+25x+2y BT T T g2
(A) O 44xy
44xy
(B) O 39x + 5y (Correct Alternative) (Chosen Option)
39x + 5y (Correct Alternative) (Chosen Option)
(C) O 17x+ 27y
17x + 27y
(D) O 16x + 28y
16x + 28y

Question No. 4 / Question ID 524 Marks: 2.00
What is the formula for (a-b)z?
(a-b)? BT T FT g2
(A) O a?-2ab + b? (Correct Alternative) (Chosen Option)
a2 - 2ab + b? (Correct Alternative) (Chosen Option)
(B) O a?+2ab +b?
a’ + 2ab + b?
(C) O -a?-2ab-b?
-a? - 2ab - b?
(D) O a?-2ab-b?
a? - 2ab - b?

Question No. 5/ Question ID 531 G Oba ITI Marks: 2.00

How the 'Principal' is denoted in simple interest calculation?
YR TS & TiRud &1 ford dRg ¥ Fefa fovan S g2
™ot
(B) O 'P' (Correct Alternative) (Chosen Option)

'P' (Correct Alternative) (Chosen Option)
€O R

IRI
DO n

n

Question No. 6 / Question ID 525 Marks: 2.00
What is the value of a x a2 x a3 x a% ?
axa?xadxat A RI?
(A) O a'% (Correct Alternative)
10 (Correct Alternative)
9 (Chosen Option)
9 (Chosen Option)

a
a
a

(C) O af
a
a
a

7
8
8

3) ENGINEERING DRAWING




Question No. 1/ Question ID 536 Marks: 2.00
Which part regulates the heat in automatic iron?
DI I YT GIferd dlg & T &I fafd Fxar g2
(A) O Thermostatic switch (Correct Alternative) (Chosen Option)
IT=E| (Correct Alternative) (Chosen Option)
(B) O Pressure plate
UTR Wic

(C) O Heating element

(D) O Asbestos sheet
e

Question No. 2 / Question ID 552 Marks: 2.00
Which is the NOT gate in the following picture?

g o ¥ NOT Tie P a1 82
(A) O

(B) O
(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

lobal iTi

(€) O

(D) O

Question No. 3 / Question ID 539 Marks: 2.00
Identify the wave form.

39 BT &I Uga™




(A) O Triangle wave
[ECALICE

(B) O Saw-tooth wave
gy aq

©0 Sauaro wave Global 1T

(D) O Sine wave (Correct Alternative) (Chosen Option)
L IER) aq (Correct Alternative) (Chosen Option)

Question No. 4 / Question ID 541
Identify the given symbol
feu U ydtes o ugaH

Marks: 2.00




(A) O AC (Correct Alternative) (Chosen Option)
AC (Correct Alternative) (Chosen Option)

@10 oms Global 1T

(C) O Inductance

T A HIE oft T
(D) © DC

DC

Question No. 5/ Question ID 549 Marks: 2.00
Identlfy the symbol used for mlcrophone (general) in electrical and electronlc CIrCUItS
gafdedrd 3R gAae-e Afthe § RSB (M) & forg Iuai frt S are Udies &l ugame &3

=
e




(B) O

(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

(€)O

Global iTi

(D) O

Question No. 6 / Question ID 537 Marks: 2.00
Which is the static machine that increase or decrease the AC voltage?

T e B SgM IT T drell Rfed 7 o A 82
(A) O Alternator
TR

(B) O Induction motor

S Hiex




(C) O Generator

(D) O Transformer (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 774 Marks: 2.00

When a manufacturer trying to make a better school bag using design thinking. What would be the next step
after understanding the students need in a bag'?

9 Pig (AT ez Rifd T &1 SURT S Th J8aR o o1 S &1 DI FR 8T § 99 [qandal o1 ih
T B SHTTADH AT GHAH b TG ARE WU T T2
(A) O Choose the colour of the bag

CUKIRURCCEl
(B) O Ask students to test the bags

[ ST T O IR DI gl

(C) O Plan different bag designs (Correct Alternative)

faftrs & %Trﬂ%:ﬁ CARNIEEEIE] (Correct Alternative)

(D) O Choose the material for the bag (Chosen Option)
977 & foIQ 7@ g (Chosen Option)

Question No. 2 / Question ID 793 Marks: 2.00
Which of the following is not a resource?
frafafad o 9§ S a1 g T8 82
(A) O Profit earned
TH HHIT

(B) O Customer database (Chosen Optl@ I Obal ITI
UEdH Sy (Chosen Option)

(C) O Raw materials
hl HI

(D) O Loss in business (Correct Alternative)
IR § HiG (Correct Alternative)

Question No. 3 / Question ID 721 Marks: 2.00
is a list of your qualifications, your skills and work experlence.

3T} ARGT3f, SR 3R B HIHd BT U Tl 7
(A) O Syllabus
ISR

(B) O Resume (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(C) O Curriculum

(D) O Mark sheet
A1 e

Question No. 4 / Question ID 759 Marks: 2.00

As a machine operator, while working with your machining you find the machine is not working properly.
What should you do?

T AT TR & U H, U1 AR & 1Y HTH HId 9T Y UTd ¢ fob 7= Siop I 10 T8 + Wi gl
3T T HRAT AMGA?

(A) O Try to find the cause and remedies for the problem to solve it (Correct Alternative) (Chosen
Option)




JUHT BT BRUT MR 3 8 H & U Wiol- HT YA HRAT d18T (Correct Alternative)
(Chosen Option)

(B) O Blame someone for the defect
QN & forg foeht 31 Qv g TfeT
(C) O Hide the machine
A B B8 S PR GAT AT

(D) O Ignore it

T IR ST AT

Question No. 5/ Question ID 579 Marks: 2.00

Complete the sentence with suitable describing words
There is water scarcity in the locality. The area is

IFId JUATES Wsal A IR TR B |
There is water scarcity in the locality. The area is
(A) O uneven
uneven
(B) O noisy
noisy
(C) O boring
boring

(D) O dry (Correct Alternative) (Chosen Option)
dry (Correct Alternative) (Chosen Option)

Question No. 6 / Question ID 616 Marks: 2.00
Which of the following is required for teamwork?

&Y 9 o forg Fafafad & O w1 smaas g2 —
(A) O Easy tasks IObaI |T|
S <Rep
(B) O Conflict and Argument
HiRIde 3R SR
(C) O Money
o

(D) O Proper communication (Correct Alternative) (Chosen Option)

IRId FHABI (Correct Alternative) (Chosen Option)

Question No. 7 / Question ID 675 Marks: 2.00
Which one is a cyber crime?
ISR HIIH DI I 872
(A) O Online gambling (Correct Alternative)
GIVH?I'IE_-'I TafeT (Correct Alternative)
(B) O Online purchasing
N IEKIESRCNEHNERT
(C) O Sending email (Chosen Option)
éﬁa VST (Chosen Option)
(D) O Chatting with friends
SRl & AT AT AT

Question No. 8 / Question ID 646 Marks: 2.00
What does self-employment mean?
W-ATTR T 1 31ef g2
(A) O Working independently and earning directly from your work (Correct Alternative) (Chosen
Option)




WA ¥ H ST ST 3R Y 3 19 A TEF'FIT'sﬁ dRAT (Correct Alternative) (Chosen Option)
(B) O Working for a single employer

THd THARR & o 1 HA1
(C) O Working part-time from home

TR Y UTC CI3H HTH HAT
(D) O Receiving a fixed monthly salary

T A3 IR aa- U =

Question No. 9 / Question ID 794 Marks: 2.00
You are a lifelong learnerifyou

g ol e o afdagafgem |
(A) O keep growing and adding to your knowledge (Correct Alternative) (Chosen Option)
3 EIG] G| aa?r MR \“xﬁ%’ﬁ ?% (Correct Alternative) (Chosen Option)
(B) O getaPhD
PhD UT& &Y
(C) O live for a long time
s gHY d Sitfdd 38 &
(D) O join online courses
3{IeTS UTeashHl 9 9

Question No. 10 / Question ID 715 Marks: 2.00
While applying for a position as fitter, which of the following email subject lines would be the most suitable?
& UG & o 3fTde Hrd 99g, Fofafad 3 9 o It $aa fawy tida ved Sugad gim?
(A) O Urgent Attention Needed
AT e 3 P SIRTHT —
(B) O Application for Fitter Position -@}@ba*nkq-l‘ltemative) (Chosen Option)
fihex ug 8¢ 3MTdeH - [3MTUT ATH] (Correct Alternative) (Chosen Option)
(C) O Applying for a new Job
A A1 b T SfTde PR E §
(D) O Fitter Job needed
"flhex Sid BT oRevd ©

Question No. 11 / Question ID 629 Marks: 2.00
Separating paper and plastic from bio waste before throwing them away is
G AR DI hh J TS BT 3R @RS b ST HRAT
(A) O creativity

(B) O profession
(C) O innovation

(D) O green mindset (Correct Alternative) (Chosen Option)
fisde (Correct Alternative) (Chosen Option)

Question No. 12 / Question ID 660 Marks: 2.00
To learn digital marketing in the Skill India Digital Platform, we have to
pa Sfean fefSiea wewid # fefea ardh e dram & fou g9 BT
(A) O explore the skill courses section. (Correct Alternative)

PIY Qo= ST (Correct Alternative)




(B) O search for job opportunities.
| b1 TR BT
(C) O enrollin any course available.
foreit oY YU UrSTehy | grRaet oA
(D) O find a physical training center. (Chosen Option)
U fhfoidhd aﬁ"'[ Hex @ioHT (Chosen Option)

Question No. 13 / Question ID 765 Marks: 2.00

What are some resource related problems in a workplace?
HARE R RN datt oo gawm #7182
(A) O Less operators

D SRR
(B) O Shortage of materials and space (Correct Alternative) (Chosen Option)

Td _H &1 ol (Correct Alternative) (Chosen Option)

(C) O More space for less machines

ERERIEIEAR IS DEASI
(D) O Electricity

~

Question No. 14 / Question ID 663 Marks: 2.00
What does having a green mindset mean?
W g ST T BT 71 TATd 87
(A) O Ignoring pollution and waste management
UG Td SUTRIY Uit DI SGE! DAl
(B) O Caring for the environment and using resources wisely (Correct Alternative) (Chosen Option)

qgfaRor &t S@UTH HIAT 3R I i HHT (Correct Alternative)
(Chosen Option) “@"@W ﬁﬁzﬂ—r’

(C) O Using resources without considering sustainability
RRAT IR f49R T 91 TA18HT BT IUATT HAT

(D) O Making choices that harm the environment

U bt T S GaiaR0T &Y T Ugand &

Question No. 15/ Question ID 628 Marks: 2.00
Create a digital CV and share it with a QR code is
TS Sfo7ed CV ST 3R 3/ QR IS & W1 AT Al g
(A) O interview skill (Chosen Option)
Sy f&hd (Chosen Option)
(B) O entrepreneurship

(C) O your digital identity (Correct Alternative)
Ygdl (Correct Alternative)

(D) O digital marketing

Question No. 16 / Question ID 757 Marks: 2.00
Which of the following is a good work habit?
fafafad # @ & @ s 9b gfae 82
(A) O Getting tensed when work is challenging
HTH YOl 81 TR TR 81 ST
(B) O Not following workplace rules (Chosen Option)
foH &1 g1 9 HRAT (Chosen Option)




(C) O Not giving up when something goes wrong (Correct Alternative)
PO TAad 31 W §R 7@l HIT (Correct Alternative)

(D) O Choosing easy tasks
3T BT BT FA HRAT

Question No. 17 / Question ID 598 Marks: 2.00
While reviewing a resume which is very important to keep in mind?

SIATSTeT B THET HRd THY fohy 1 BT T [T 9gd TRl 7
(A) O Salary details
CREACERU|

(B) O Interest and hobbies
RERCRED

(C) O Lot of information to get the job
Tt UM & AT 9gd IRt SR

(D) O Highlight skills and qualifications that match the job (Correct Alternative) (Chosen Option)

NHE A A GH A DI 3R TGS U= TSI STAAT (Correct Alternative) (Chosen
Option)

Question No. 18 / Question ID 798 Marks: 2.00
The first version of a product/service is called
foreft Tisae/afae Tgem Gwapur ERRIRIE
(A) O first edition (Chosen Option)
W TS (Chosen Option)
(B) O firstinitiative

W " "
e Global iTi

(D) O prototype (Correct Alternative)
(Correct Alternative)

Question No. 19 / Question ID 687 Marks: 2.00
is a file storage and synchronization service of cloud computing developed by Google.
T gRT fAHRId T3S T &1 U WISd Wikel 3R Ri-geeH Jar g
(A) O Google Drive (Correct Alternative)

T[ITeT §Tgd (Correct Alternative)
(B) O Hard disc (Chosen Option)

Eﬂé few (Chosen Option)
(C) O Netflix

(D) O Internet Explorer
geRAC TR

Question No. 20 / Question ID 690 Marks: 2.00
Full form of GPS is
GPS &1 Bd BT g

(A) O Great Polar System
Great Polar System

(B) O Global Positioning System (Correct Alternative) (Chosen Option)
Global Positioning System (Correct Alternative) (Chosen Option)

(C) O Global Planning System
Global Planning System




(D) O Globe Pointing System
Globe Pointing System

Question No. 21 / Question ID 703 Marks: 2.00
For a project work you have collected some information from internet and sorted it. What is the best way to
share it with your team?
it Tiotae &1 & iU 3T Eexe ¥ $B STHTHIM Hade & ¢ R 3 HHEG a1 g1 39 (U S &
1Y YR FHoRA BT T 35T AT T 87
(A) O Print all the information and give it to the team members.
IR STHHRA fiie SR ¢H Ta¥ &I o1 1T
(B) O Talk about information which are not available
3 STHIHRA & IR T §1d 6T F1gE off SUasY gl &
(C) O Tell everything in detail
T4 $© fecda I adm1 91fgy
(D) O Share only the main points clearly, use simple words and pictures, if possible (Correct
Alternative) (Chosen Option)
&ad O Ulged &I [T ©U § AR BT 18T, Ife YT g1 d Ia 959 R fUaed &1 3uair
CXE EIT%Q (Correct Alternative) (Chosen Option)

Question No. 22 / Question ID 574 Marks: 2.00
Complete the sentence with suitable describing words
There is a playground near our house.
TG qUHTED RMeg] o a1 GRT Y |
There is a playground near our house.

(A) O beautiful

beautiful  —
B spacious GI b I T
10 sgacious O a I I

(C) O big (Correct Alternative)
big (Correct Alternative)

(D) O good (Chosen Option)
good (Chosen Option)

Question No. 23 / Question ID 743 Marks: 2.00
While working with your team on a project, one of your coworkers is finding it difficult to finish their job. What
should you do in this situation?

forddl Tiorae TR U S & A1 HTH $HRd T, 310D Th TgHHI D SO HTH T HRA H HISTS 51 36! 5
=9 fRUTA H 3Tueh! o™ BT B T?
(A) O Ignore their problem and focus on your own work.
D! TN DI ToR GO HAT IIMGY 3R 30 HTH W ST &A1 dTey
(B) O Help and support them to finish their work. (Correct Alternative) (Chosen Option)
ITPT BTH TRT HIA A ITH! JeTadT HAT 3R U A1 13T (Correct Alternative) (Chosen
Option)
(C) O Finish their work for them.
3 et ITehT 1Y {1 H31 =1fge

(D) Complain about them to the boss.

3% IR H 919 I Rieerad &A1 91y

Question No. 24 / Question ID 558 Marks: 2.00
Campus recruitment is conducted at

ST Yl H Ao Y STl | |




capital city of the state (Chosen Option)
I B IS H (Chosen Option)
in a company

on line

A

SIENIES!

ITI (Correct Alternative)
ITI (Correct Alternative)

Question No. 25 / Question ID 592
A person with high emotional intelligence has

I UGS Feari ardl fad & U B |

(A) O

(B) O

physical strength
XY
lot of negative qualities
dgd IR HRIAD T[0T
%g_ﬁ)
lot of positive qualities (Correct Alternative) (Chosen Option)
qdgd IR GHRTHD 10T (Correct Alternative) (Chosen Option)

Marks: 2.00

Global iTi




